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0.0 2,0|5:ELUA=11.35

6:ELU/2=1"1.35+3"1.50 + 2'0.75
7. ELU/3=1"1.35 +31.50
8 :ELU/4=1"1.35+ 4150+ 2°0.75
§:ELU/5=1"1.35+ 4150

27
28:
Cas simples

Combinaisons

:ELU/6=1"1.00
:ELUA7=1"1.00+3"1.50 + 2°0.75
:ELU/8=1"1.00+371.50
:ELU/S=1"1.00+4"1.50 + 2°0.75
: ELUA10=171.00 = 41.50

: ELUA11=1"1.35 + 21 50

s ELUA12=1"1.35 + 3'0.90 + 2°1.50
:ELUA13=1"1.35 + 4°0.90 + 2°1.50

:ELUA16=1"1.00 = 4°0.90 + 2°1.50

: EL5:CAR/1=1"1.00

1 ELS:CAR/2=1"1.00 = 371.00 + 2°0.50
: ELS:CAR/3=1"1.00+ 371.00

: ELS:CAR/4=1"1.00 = 4°1.00 + 2°0.50
: EL5:CAR/5=1"1.00 + 4"1.00

1 ELS:CAR/6=1"1.00 + 2°1.00

ELS:CAR/7=1"1.00 + 3°0.60 + 2°1.00
ELS:CAR/8=1"1.00 + 4°0.60 + 21.00
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ur les cas de charge élémentaires ou les combinaisons.
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